EARAROBEEIERT — 2 N— IBISH —F

20155E3H4H (k) 21E%H#2H

S oRB5# B5 5%

‘ (%] 8 ‘ (sl — | 4 (@) 14000 KB

[AE£] 1 7% :140,000  ~ 2% :28,000 W  3%&:1400MH 4% :0H / 5%&:0M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S o6 | MUK 1:30.0 3-2-2-1 [39.4| — 1 505 | JIUBBAZE (5£42)
1 &N 3 724 /—F 56.0 (=) (+2) () BEHRS
LiALNTYTINE BECYTNT—F =P
PR p=yepm 30, 33 4| - BEHGE (1)
28] 0| trr7ms2 #s| 5% e | sz mal - | 2| e g
LANRTNGR BH LTIV TERBHIS
4 5 | Bl 1:30.2 4-4-4-3 | 39.4| — 3 467 | RESE (1)
3N 4 J)L3avFx 56.0 (NF) -1) FNET
LB ALNT Ry TR B3/ UH—)— BREFRS
N 4 5 | {ERE= 1:30.5 9-8-7-7 |38.7| — 5 419 | (REEBSET (S54R)
47| 7| A T¥aoTxEX 54.0 (11/2) o |® K24 T
RiA AL amdI Ry BixAoavsqn =AE BC
SN # 5 | KEES 1:31.1 5-5-5-5 |39.6 | — 6 421 | WIPER (S54R)
EE 2 Y NH—IL 54.0 ®3) +1) (G JPN%;EH
L:ZZXH2R BELIA—=NL T2 Rs
R W8 48 | DOEEFIFE 1:31.6 8-9-9-8 |39.3| — 4 494 | FEBS (BHE)
617187V IHIVRY 56.0 @ 1/2) 3 | B F-zr7
R:y07% BI7I9MCIR HET7—L
. 5 | BAIRA 1:32.2 6-6-6-5 | 40.7| — 8 410 | WFBR (1)
7155 j—,rx;’f,_\—,ja'— 54.0 3) (0) (B) J P NFHf
RixA1ZT7— BAILZYF—IL HET7—L
SR 4 7 | BEXES 1:32.7 7-7-8-8 | 40.6 | — 10 451 | FREEBSAT (S54R)
gl1]1|7—77E83IF3IX A51.0 @ 1/2) () | BEZXK
L:€r/0704 B:7Uv—hEI- HE SR
i S i 4 | RBEZ 1:32.8 1-1-1-4 | 42.4| — 7 414 | LT (551R)
9 6| A= KT7ALV— 54.0 (3/4) -10) | () J P NHH
Rig1XT74Y— B:a1%TU—t HFASZREy K
RSN ft 6 | WTHZ 1:36.5 10-10-10-10{ 39.6 | — 9 413 | /NERREBR (S2H2)
10(810| X/ ¥=F >k %53.0 [t a) ) 2 RLFAT K
R:TSyIk—0 ByAvsauAy #E E
® 1—F—@EBIERL
1T=7r= 6,9,3,4,2,5,1,8,7,10
2a=5F= 6,3,9,4,2,5,1,7,8,10
Ja=5= 6,3,9,4,2,5,7,1,8,10
40—F— 3,9,4,6,(2,5),7,(1,8),10
[ N5
B 3 110 714K 3-9 110H e E 3-8 140M JEE 3-4-9 180M
B B 3 1004 3-4 140H B = 3-9 140H JEE 3-9-4 300M
9 1004 4-9 150H B H 3-9 190H
4 110

ABICOVWTRDTEEERROODE. TR LIV,




